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NEW QUESTION 1
Which of the following DevOps options is used to integrate with cloud solutions?

A. Provisioning
B. API

C. SOA

D. Automation
Answer: B

NEW QUESTION 2
Which of the following are the main advantages of using ML/AI for data analytics in the cloud as
opposed to on premises? (Choose two.)

Cloud providers offer enhanced technical support.

Elasticity allows access to a large pool of compute resources.
The shared responsibility model offers greater security.

Al enables DevOps to build applications easier and faster.

A pay-as-you-go approach allows the company to save money.
ML enables DevOps to build applications easier and faster.

mmoow»

Answer: BE

NEW QUESTION 3
A business analyst is drafting a risk assessment. Which of the following components should be
included in the draft? (Choose two.)

Asset management
Database type
Encryption algorithms
Certificate name
Asset inventory

Data classification

mmoow»

Answer: AF

NEW QUESTION 4
A cloud administrator suggested using spot instances to reduce cloud costs for part of a new cloud
infrastructure. Which of the following conditions must be addressed by the application that will run
on these instances?

A. The application needs to store data in a database.

B. There is a restriction for distributed network communications.

C. The application needs to handle unpredictable instance termination.
D. Resource-intensive compute loads will be forbidden.

Answer: C

NEW QUESTION 5
A company wants to ensure its existing functionalities are not compromised by the addition of a
new functionality. Which of the following is the BEST testing technique?

A. Regression
B. Stress
C. Load
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D. Quality
Answer: A

NEW QUESTION 6
A human resources department is considering a SaaS-based human resources portal and requires
a risk analysis. Which of the following are requirements to consider? (Choose two.)

Support
Threats
Chargebacks
Vulnerabilities
Maintenance
Gap analysis

mTmoow»

Answer: AD

NEW QUESTION 7
Which of the following cloud principles will help manage the risk of a network breach?

A. Shared responsibility
B. Self-service

C. Availability

D. Elasticity

Answer: A

NEW QUESTION 8
A company with critical resources in the cloud needs to ensure data is available in multiple data
centers around the world. Which of the following BEST meets the company's needs?

A. Auto-scaling

B. Geo-redundancy
C. Disaster recovery
D. High availability
Answer: B

NEW QUESTION 9

A company is migrating a legacy application to the cloud. Two C-level executives are currently
engaged in the initial stages of the migration, and they are planning a rip-and-replace approach.
Before initiating the project, the FIRST step should be to identify what? (Choose two.)

A. The required network performance.
B. The key stakeholders.

C. The desired CSP.

D. The required cloud services.

E. The required amount of storage.
Answer: CD

NEW QUESTION 10
A company wants to process a batch job in a faster, cost-effective manner. Which of the following
is the BEST solution?
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A. Implement right-sizing.
B. Increase CPU usage.

C. Utilize spot instances.

D. Add storage.

Answer: C

NEW QUESTION 11

A small business is engaged with a cloud provider to migrate from on-premises CRM software. The
contract includes fixed costs associated with the product. Which of the following variable costs must
be considered?

A. Time to market.

B. Operating expenditure fees.
C. BYOL costs.

D. Human capital.

Answer: D

NEW QUESTION 12
Which of the following is an example of outsourcing administration in the context of the cloud?

A. Managed services.
B. Audit by a third party.
C. Community support.
D. Premium support.
Answer: A

NEW QUESTION 13
Which of the following technologies would help a game company prepare its cloud infrastructure to
support a global distribution workload of a newly released online game? (Choose two.)

Auto-scaling
VDI

Data portability
CDN
Templates
Blockchain
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Answer: AD

NEW QUESTION 14
When selecting a cloud provider, which of the following is MOST likely to be a financial
consideration?

A. Proof of concept.

B. Request for information.
C. Licensing models.

D. Request for proposal.
Answer: C

NEW QUESTION 15
Which of the following results from implementing a proprietary SaaS solution when an organization
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does not ensure the solution adopts open standards? (Choose two.)

Vendor lock-in.

Inability to enforce the SLA.

Lack of technical support.

Higher ongoing operational expenditure.
Integration issues.

Higher initial capital expenditure.

Tmoow>

Answer: AE

NEW QUESTION 16
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